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TIFATTVIKRE REFEE <EKFRIMDER>

BMEERBR: 20838118 (k)
fffHAO—X: OUT I N
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BEAE ATNRYT BB 14588 SMAK

HDCP_LPR: Bf4:36 &it:36 < =7:36 B i oA

Hvb: PARX2 = 18 A

ELA—)L: OUT =7 oA

I N 5t 18 A

B4z SNEZ e OUT IN GROSS HDCP NET 5%

B T8 BF IJAILI1> 37 39 76 48 71.2
2 LM B#keF pasbE: 42 45 87 14.4 72.6
3 R AEF AMEET 47 45 92 18.0 74.0
4 HMAEF i 43 48 91 16.8 74.2
5 Rk = YT A 48 = 43 91 16.8 74.2
6 FFF oW IJAIL I 48 42 90 15.6 74.4
7 RIIBRT EDiH 43 41 84 9.6 744
8 H FRFE IiAILdq4 60 47 107 324 74.6
9 EE XEF EDiH 46 = 48 94 19.2 748
10 TFIEF T4 I 40 42 82 7.2 74.8
A E YT A 50 51 101 25.2 75.8
12 BAR| IE{E IH4)Lr94> 52 58 110 33.6 76.4
13 {EHE T AMEET 47 = 46 93 15.6 774
14 t#HERE RF EDH 45 45 90 12.0 78.0
15 ®YR EX=ZEF g5t 52 57 109 30.0 79.0
16 AH B EDH 54 56 110 30.0 80.0
17 #HA E2&H #50 45 50 95 144 80.6
18 AR EHBE EDH 59 59 118 36.0 82.0
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